
         

 
 

1   
1 1 

mono cristal


 
1 2« Intégration »


·« micro circuit »SSI1002

· MSI10002

  LSI10000ß1000002

VLSI0.1ß12

  
1 3 


·TTL« Transistor, Transistor,Logic »
·CMOS« Semi Conducteur Oxyde Métal Complémentaire »

1 4  
01
« Input »

VIH min
VIL max

 


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




« Output »

VOH min
VOL max

 


1 5  

TTL












1 6(Compatibilité)









Sortie �             Entrée

1

0

f

Vcc
VOH min

VOL max

0



VI

VH

VOH min

VOH max

VOL min

VOL max

VIL min
VIL max VIH min VIH max

1II IO

VI VO

f

Vcc
VOH min

VOL max

0

f

Vcc

VIH min

VIL max
0

VOH min > VIH min
VOL max < VIL max



2 « TTL »  
2 1±5V ،5%

2 2 
VOH min = 2.4 V VIH min = 2 V
VOL max = 0.4 V VIL max = 0.8 V

  
2 3 

IIL max = 1.6 nAIIH max = 40 mA
IOH max = 400 mAIOH max = 16 mA

2 4« TTL » 
74xx
74Lxx
74Hxx
74Sxx« Schotky »74Hxx
74LSxx74Lxx 74Sxx

74ASxx 74ALSxx74Fxx


3 « CMOS » 

3 13V15V

3 2 
VOH min = 0.95 V VIH min = 0.55 V
VOL max = 0.05 V VIL max = 0.45 V

 
3 3 

1mA1mA.
 

3 4« CMOS » 
274HCxx74HCTxx

CMOS4000B74Cxx


